Math 152 - Fall 2013 - Quiz #2

Name: @

l Show all work clearly and in order. Please box your answers. |

SOLVE ONE OF THE FOLLOWING:

Please indicate which problem you do NOT want me to grade by putting a GIANT X
through it, otherwise I will grade the first problem worked on:

Score: out of 10.

1. Find the area of the region bounded by y = e?*, y = e~

¢ and y = e2. Note: you must also draw
a clear picture to recieve full credit.
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2. Set up but do not evaluate the integral for the volume of the solid obtained by rotating the
region bounded by y = 28, y = 1 and the y-axis with > 0 (so the region is in the first quadrant)

about the line y = —3. Note: you must also draw a clear picture to recieve full credit.
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